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I.  Out of the following group situations, which is the best case scenario for a manager in terms of the productivity that
results?
a. High cohesiveness with low productivity norm
b. Low cohesiveness with low productivity norm
c. High cohesiveness with high productivity norm
d. Low cohesiveness with high productivity norm
2. Planning gives direction, reduces the impact of change, minimizes waste and redundancy, and ____,
a. establishes the workloads for each of the departments
b. sets the basis used for promotion of individuals within the organization
c. eliminates departments that are found to not be needed within the plan
-d. sets the standards used in controlling
3. Colleen invested a dollar in the Powerball Lottery and won $60 million. Subsequently, she decides to start her own
business. Initially she begins a business that has a single-line business. She realizes that this organization will need a
strategy.

business-level

a.
b. organizational

¢. operational-level
d.

corporate-level
4. The process of selecting decision criteria is accomplished by

a. massaging the data that will support a given decision
b. do the same things with competitors

c. determining what is relevant in making the decision

d. examining the difference in the opportunities available

5. Which of the following is the basic difference between multinational corporations and transnational corporations?

a. Multinational corporations typically do business with more countries than transnational corporations do.

b. Transnational corporations are run by the parent company but must be owned by a local, national company.
c. Decision making in transnational corporations takes place locally rather than from the home country.

d. Multinational corporations pay more in taxes than transnational corporations do.

6. One of your employees is in the habit of taking excessively long lunch breaks. The more you talk with him about the
problem, the worse his behavior becomes. Even written reprimands and disciplinary layoffs fail to produce improvement.
Based on this information only, what kind of reinforcement are you apparently using?

a. Extinction
b. Avoidance
c. Punishment
d. Distortion

7. If a bank estimates the capabilities of its training and development department employees prior to implementing a new

training program designed to change their method of providing customer service, it is completing what step in the

strategic management process?

a. identifying opportunities and threats

b. identifying the organization’s current mission

c. identifying strengths and weaknesses

d. formulating strategy

8. Jordan decides that he wants to assemble lawn mowers. He decides that he wants a business to develop a distinctive edge

in producing high-quality lawn mowers. This emphasis on quality is to be so strong that his company will have a
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10.

11.

12.

13.

14.

15.

that will set his company apart from his competition.

a. core competence
b. competitive power
c.. legal propriety

d.

competitive advantage

Which of the following factors least constrains high performance in planning organizations?

g

quality of planning

b. extent of planning

c. implementation of plans

d. environmental factors _

The intent of scenario planning is not to try to predict the future, but to reduce uncertainty by

a. calculating the potential profits from different specified conditions

b. pretending that the customer needs are different from forecasted

¢. supposing that a different market mix existed

d. playing out potential sitvations under different specified conditions.

It is safe to say that managers do not have complete control over organizational outcomes; the environment has a
significant impact. However, there are different environmental factors that shape a manager’s work life. As a manager,
if you were working in an industry that was dependent on Internet connections and the many new customers vying for
the same space, this would be an example of what kind of environment?

a. general
b. static
c. stable
d. dynamic

The concept that defines the number of subordinates that report to a manager and that indirectly specifies the number of
levels of management in an organization, is called '

a. responsibility factor

b. unity of command

¢. span of control

d. authorized line of responsibility

The overall research on the five power bases and their relationships to productivity revealed that this power base had no
significant effect in productivity in the workplace. However, when this power base is used properly it does increase
productivity. What power base is it?

Reward power

Referent power

Expert power

Legitimate power

o e om

Coercive power

Managers can make rational decisions if

a. the costs of finding and evaluating alternatives is low

b. the organizational culture does not encourage risk taking

¢c. outcomes are concrete and measurable

d aandc

Leadership is

a. the function of influencing a group towards the achievement of goals
b. directing a group towards the achievement of goals

c. the process of influencing a group toward the achievement of goals

Z#RR




A ¢ 346 BHIEMARE 111 FEERLERE LS RRMA

#8 : 2E2(L) A% © 346
ik 1 # 8 A2E 3 R’

d. agroup that achieves goals
16. The quality of the planning process and the appropriate implementation of the plans probably
a. don’t contribute to high performance nearly as much as the extent of planning
b. _contribute more to high performance than does the extent of planning
c. contribute less to high performance than does the extent of planning
d. should be studied more to factually determine which contributes the most
17. Jeffery has been asked by the company president to change the organizational culture to reflect the company’s new
organizational goals. As executive vice president, he certainly understands the goals, but is not sure that he understands
what to do about the culture. Jeffery found out that to build a strong new culture, he should do all but which of the
following?
a. utilize their recruitment efforts
b. develop socialization practices to build culture
¢. encourage a high turnover rate
d. have management make explicit what is valued in the organization
18. As managers assess the environment, issues and concerns that could affect their organization’s current or planned
operations are likely to be revealed, and they
a. won’t be equally important
b. won’t be equally associated
c. will be equally important
d. will be as important as other, but not equal in value
19. Mr. Yu demands that the five store managers during their weekly meeting discuss what the customers in their stores are
requesting. Mr. Yu will always read the monthly chocolate-industry magazine. He always attends the Annual National
Conference of Chocolate Makers and updates his managers when he returns. These activities are examples of:
a. competitor intelligence
b. boundary spanning
c. environmental scanning
d. intellectual exercise
20. Strategic plans cover a broader view of the organization and include the formulation of goals, whereas operational plans
define ways to '

a. maximize the organization’s profits

b. achieve the goals

c. minimize the number of employees that have to be laid off in hard times

d. provide the most efficient methods of production

21. Which of the following might be an example of increased efficiency in manufacturing?
a. cutting the amount of labor required to make the product

b. cutting the price of the product

¢. increasing sales of the product

o

increasing advertising for the product

22. A new cell phone battery doubles battery life but also increases the cost of the phone. This battery adds
no value to the phone since it increases the cost

value to the phone only if the cost can be cut

value to the phone if more customers buy the phone

e o o p

no value to the phone if more customers buy the phone
23. A software company that puts almost all of its performance measurement effort into measuring the total number of
units that the company and its competitors sell most likely wants to excel at

LA
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b. market share
c. cost per unit
d. labor per unit
24. Theodore and Janice have formed TJ Soft, an entrepreneurial venture to develop games and other kinds of software for
consumers. Theodore feels that success depends on the decisions that he and Janice make in the near future with
respect to personnel. If they hire the "right” people, Theodore thinks, the company will be successful. Which view of
management does Theodore espouse? '
a. the symbolic view of management, because success rides on the decisions of the managers
b. the symbolic view of management, because success rides on external factors—~whom Theodore and Janice hire from the
outside world
c. the omnipotent view of management, because success rides on the skills of the workers
d. the omnipotent view of management, because success rides on the decisions of the managers
25. New York mayor Michael Bloomberg's proposed ban on supersized sugary drinks is reflective of which external
organizational issue?
a. the increasing power of Generation X's
b. the symbolic role of managers
c. the importance of stakeholders
d. the increasing economic disparity between the rich and poor
26. When an auto designer's presentation of a new design shows all of the good features of the design but fails to mention
the poor gas mileage that the model will get, she is engaging in this.
a. emotion
b. selective perception
c. information overload
d. filtering
27. Which of the following best characterizes a transnational corporation?
a. asingle central home-country management
b. an organization in which multiple operations function with a large degree of autonomy
c. aloose alliance of totally separate, wholly independent companies
d. acompany that eliminates geographical boundaries
28. A Coca-Cola bottling plant in Bolivia is wholly owned by a local businessperson. What kind of venture is this plant
likely to be?
a. afranchise
b. alicensed plant
c. a foreign subsidiary
d. ajoint venture
29. Monica's boss allows her to make any decision she thinks is important on the spot without consulting anyone. Monica's
boss has this kind of leadership style.
a. laissez-faire style
b. autocratic style
¢. democratic style
d. hands-on style
30. A manager is determining what kind of new computers she should purchase for her department. She has made a list of
five different computer models for consideration. Which stage of the decision-making process is this?
a. selection of an alternative
b. identification of decision criteria
c. development of alternatives
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d. analysis of alternatives ,

31. Acme Corporation's management feels that employees could be more motivated by their jobs. The jobs were enriched
earlier and some improvements were seen in motivation. To increase the motivation through enrichment, Acme decides
to increase the meaningfulness of the work. This might be done by
a. increasing skill variety

b. increasing autonomy of workers
c. giving workers more feedback
d. giving workers less feedback

32. Asalad dressing company that buys a large olive grove to produce olive oil is practicing which of the following?

a. concentration
b. forward vertical integration

c. backward vertical integration

d. horizontal integration

33. A soap company that features a bath soap department, a laundry detergent department, and a dish soap department is
using which of the following?

a. process departmentalization
b. functional departmentalization
c. product departmentalization
d. customer departmentalizatibn

34. Asking a candidate for an automotive mechanic's position to deconstruct and reconstruct part of an engine motor
would be an example of what kind of selection device?

a. spatial ability test
b. performance-simulation test
c. mechanical ability test
d. perceptual accuracy test

35. Employees at a company protest a change that allows an automatic answering system to answer phone inquiries,
claiming that the company is becoming "depersonalized." They are most likely resisting change due to
a. uncertainty

b. habit
c. conflicts with company goals

d. fear of losing status
36. The only effective way to guard against social loafing is for managers to make special efforts to do this.

a. be fair to all group members

b. treat all group members equaily
¢. assess individual contributions of group members
d. assess the group as a whole exclusively
37. The typical reason for why an entrepreneur considers implementing employee empowerment in an organization is to

make sure that the organization

stays nimble and flexible
is profitable
stays small and informal

= L =

is efficient

38. Despite a good balance sheet and stock performance in recent quarters, the top management of Ackerman Consumer
Products can see trouble on the horizon. From its beginnings as a familfy business manufacturing specific household
items, it has grown to an industry giant with a line that includes several hundred tools. This growth has allowed it to
acquire three other former rivals, all of which were victims of their own inability to change with the times. Along the

LE &




A 346 R EMRE 111 $ERERALHR AL RRA »
#a: FEEW0) . A : 346
Bk: 1 £ 8 HE2HE 6 X

way, Ackerman has maintained the same principles, particularly in terms of valuing the contributions of its employees
and cultivating a strong workforce. Nevertheless, earnings are off. Which of the following did Ackerman's leadership
most likely fail to do during the course of the organization's growth over the past few years?

a. design a cohesive work flow program that allows employees to manufacture, ship, and complete the necessary paperwork
in an efficient manner

b. broaden its acquisition strategy to include business in industries unrelated to tool and household item manufacturing

c. develop enough alliances with other companies to ensure that Ackerman has sufficient access to the materials it needs to
manufacture its tools

d. attract and reward enough good people in every level of the organization, from line worker up through executive
management

39. Of the adopters of new technologies, the members of the early majority
are deliberate and take longer to decide to use something new.

a
b. include organizations to which others look for leadership.
c. tend to be isolated and highly conservative.

d

are critical to the success of a new technology.

40. Manuela, a cosmetics manufacturer, is expanding her business into more eco-friendly products. Manuela's company's
new eco-friendly lipstick formula tends to stick and break when being removed from traditional lipstick molds, so she
plans to hire an engineer to create new molds that make it easier to remove the lipstick once it is sef. Assuming she is
moving to a level of planning involving greater detail, what should Manuela's next step be?

a. to work with executives to identify the‘speéiﬁc procedures and processes required to create the new lipstick molds and
market them appropriately to the public.

b. to direct floor managers to create specific procedures for the workers in charge of lipstick so they can properly remove the
set lipstick and clean the molds.

¢. to direct mid-level managers to focus on productibn runs and delivery schedules for the new lipstick molds and to find a
way to repurpose the old molds.

d. to direct mid-level managers to develop a strategic plan for the long-term manufacturing and distribution of the new
lipstick molds.
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